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Mr. Schlansky . _J Geometry

Area with Coordinate Geometry

b. Triangle JOY has vertices J(4,0), O(5,4) and Y(1,5).
Find the area of triangle JOY.
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®. Triangle USA has vertices U(4,-7), S(-3,-4), and A(7,0).

Find the area of triangle USA.
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. Find the area of triangle ABC if A(0,2), B(2,3),

and C(1,5).
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l$. Triangle RST is graphed on the set of axes below

How many square units are in the area of ARST?
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{ On the set of axes below, the vertices of APQR have coordinates P67, O, 1), and
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What is the area of /APQR?
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u. Triangle DAN is graphed on the set of axes below. The vertices of A DAN have coordinates

D(=6,-1), A(6,3), and M(=3, 10), " y
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What is the area of A DAN?
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7. The coordinates of vertices 4 and B of A4ABC are A(3,4) and B(3,12). If the area of AABC is

24 square units, what could be the coordinates of point C?
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8. On the set of axes below, AABC, altitude CG, and median CM are
drawn.
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